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X (1/2 x ( 0.790 + 0.795 ) — 0020 x 1) x 4 = = 0773
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90 | 83

80 | 82
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BEE8  ( t=80mm ) A = B8.500 x 19.156 = 162.826
= vl
2) R Y—F ( ock=18N/m" )
GE1 51 [H] C2 c3 G4 G5 6 G7 8] [85] 52 GE2 =
AR E n 0. 000}0. 938|0. 960{1. 920/1. 920| 1. 920{1. 520}1. 9201, 920} 1. 820|1. 920)0. 360}0. 538[0. 0O0] 19. 156
= m 4. 250 |4.250 : L 4.250 {4.250
i |n? 0,000 |3.987 3. 987 7.974
‘; £1-80 |mm - 61 | 50 50 | 61
@ | 280 tmmf - 61 | 50 50 | 6t
| FHE [m 56 b6
R | : 0.223 0.223 | 0. 45
_E ] 4.250 {4.250 [0.600 J0.000 fo. opo j0.000 [0.000 |.000 |0:000 |0.000 |0.000 {4.260 |4, 250 {o. o000
B |m? 0.000 |3, 987 : ) 3. 987 7.974
& %2780 |m 61_| 50 50 | 61
| t3-80 |mm 61 | 50 60 | 61
SEHE |nm 56 58
FHE el 6.223 : : 0,223 0.45
SR EABA LYY L ORMEIStmE S *2: FHEOHELES GLOUSOTHELT S
(EEEAER)
A= 1.974 + 7.974 = 159
Vo= 045 + 0.45 = 0.9 n
3) MEFRIFLE
GE1 51 1 c2 3 o4 ch C6 c7 cB co 82 GEZ =HE
As8o8 “Iml| 00000 938]|0. 960[1. 920[1. 920{1. 920[1. 920}1. 820{1. 920] 1. 920]1. 920|0: 960|0. 938{0. 000| 19. 156
g m : 4. 250|4, 25014, 2504, 250{4. 2504, 260(4. 2504. 250|4. 250|4. 250|4. 260]
miE | : 4.080 |8, 160 |8 160 |8.160 |8. 160 |8. 160 [8. 160 |8.160 |B. 160 [4.080 | 173, 440
¢ [[£1-80 Imm 50 | 30 | 22 [ 10| 3 ] o] 2 [10[2 {ao]s0
@ | t2-80 [mmj 50 | 39 | 22 | 0 | 3 o 3 (104 22| 39| 50
EBE || ] 45 31 16 7 2 1 6 16 31 45
i | 0.184 |0, 263 fo.1a1 |o.057 [0.015 {o.008 |0.040 |0.131 [0.953 {o. 184 1. 2656
m 4, 250)4. 250{4. 250)4. 250|4; 750]4. 250|4. 250|4. 25004, 2504, 250/4. 250
i | 4.080 {8.160 [8.160 {8 160 [8. 160 |8, 160 8,160 |8. 160 |8, 160 |4 080 73. 440
g t2-80 {mm 50 39 22 10 |- 3 g | 3 10 ] - 22 39 50 ]
f | _T3-80 {mm 50 | 39 | 22 | 10 |.3 | o .} 3 | 10| 22 | 39 | 50
EHE ﬂ 45 | 3 16 1 7 2 -2 7 16 | 31 45
#FHE |n’ 0,184 |0.263 {0.131 [0.067 |o.016 |0.016 |0.057 |0.131 {0.253 Jo.184 | 1,281
CoR R ATT A FORABERSMET S ®2 THEOHFEAMEROMOTHEETE o
(BLEED L
A = 73440 4+ 73.440 - = 146.9  m
: 3
Vv = 1.266 + 1.281 = 2.5 m
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T ' _
| =330 - o . . .
. L CHKRER
e m ENEE AR T EEIE
T = ' & 1k [Feso ! 1 ¢ 52.8 '
_ _?%_%1% L8| A % o REU—Y Feos0 | 11 12.5
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*, - ! A%I
LD, Ll HERY B 654 kg
3 15 B R R :
2) HoKE - e
2 o 2 @ VP150 L=800
4416 # » I éf W = 1 &Kx 54 lkg/:‘t = b4
3 VP200 1=2000
g 8 W= 1 &x 203 kyk = 203
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@) VP200 L=1700
W o= 1 E®x 1.2 ke/x = 17.2
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N RAITFL—Y '

4)7D#€Cﬂb?1wﬁf

A In S o/
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1 - PL 50x3,2%200 0.25 kg
2 - AN A VT M2

_ 400

[3Y

6) REEMH
L = 8500 x 1.0842 x 2 4 19.156 x 2
: 0847 %2
7) a0 E i
L = 8500 x 1.064 x 2 + 19.156 x 2
—EE
8) Witk Loy — h g (CO-AEH)
a) TIHEE
D EWHER
M@= ( 0.300 x 0.908 — 0.270 x 0.220 ) x
AZEI = ( 0.300 x 0,908 — 0.270 x 0.270 ) x

it SA = 1.9170 + 1.7955 -

@ EHithE

AU = ( 0.3918 x 7 - 0.3935 x 2 ) /sindo 00’ 00"

©1.06418 . ..

AR =
B XA = 3.7561 + 3 7561 =
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A2 =

&t A = 04371 4 0.4371 =
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W o= 4 # x 0.25 ke/fA =
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(1) La(ob CR + S5400

'A1(M)' TFLD31 0358 _ L= 8120 m X 1 - 4~
A2(F) L3208 | L= 9120 m X 1 &7
m)v—wﬁ‘ AV Ek
A1(M) P4 X 47.0mm X 25.0mm  L=1314mm ' _ N = 1 7
Vo= 4.70cm X 2.506m % 131.46m <1000 | = 154 &
A2(F) PR 47,Qmm><25.0mm L=1314mm | N = 1 &F
V= 4.70cm><2.50c}nx131.4cm+1000 - = 154 @
&) Foh—8  SDMS
_'__:_:_:'..A_Iz_(M)._:ﬁT il D16x590mm Sl U N= 42 K
W—_— 1560 .kg/n% X 0.590 m X 42.2: R 386 ke
ADIEEH D16 510mm N o . N 3 &
W= 1.560 kg/m X 0.510 m X 367 | = 28.7 ke
Em/AEt .= 673 ke
A2F)H7 81 D16 X590mm | N = 4 &
W = 1,560 kg/m % 0.590 m X 427 [ : = 386 ke
AF)AEEE  D16X510mm o ' ' o N= 3 X
W = . 1.560 ke/m x 0510 m X 362{: | | L= .' 28.7 kg
B E E;%_d\ﬁj- =T 67.3 ke
(&) 11—t o
| ~AIM) V= 4560 X 0.350 x (0.146 +:0:.f46 .)./ 2 |
+ 4560 X 0350 x (0.146 +0.146 )/ 2 .
J_r-.s.jzo X 0.500 x (0.110+0.110) / 2 . = 097 m’

CA2F) Vo= 4560 X 0.350 X (0.146+0.146) / 2
| + 4560 X 0.350 X (0.146 +0.146) / 2
+ 8120 % 0500 x (0.110+0.110) /2 = 097 m®
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(1) HELEE

ATV PCRUER-F v TP-30 L=. 1820 . mm. . 8 {8
A2(FHE POEYSR-Fob '.;:.f.{F_‘—SO L= ;'-._:182'0_5' mm 8 M
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(1) TERERT

BEEDF]  t=10cm (100m*3.5m*0.10m=35m3)
W3.5m X L180m = 630 m2

BESEAE 22 X 1524 X 6096
W( A% x 1.524) x L(54% % 6.096)m = 186 m2
W( 3 X 1.524) x L(10# % 6.096)m = 278 m2
At 465 m2
(2) = EEHT

MEFEERR
HiA 9% +2/K =45H=5R

SERUEBAA : 5A

EEFHEHAER : 5A



